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Conceptual Physics — Review for Final A ﬁ\_/ C/7 / E\’ 12 June ‘17

1. 'What is the change in momentum for a 50kg mass that goes from 8mv/s to 2m/s?
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2. What is the impulse acting on the 50kg mass in question #1?
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3. What is the impulse on a bullet ﬁred from a gun compared to the impulse on the gun‘?

T he cmpilge e LV%Q GMme f bgf’i
KCCGFJA}OJ 34/ /}bt}w%m > 5

4. Two toy cars collide and stick together; what kind of collision is this? Explain.
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3. Which will travel a greater distance, a bullet fired from a rifle or a bullet fired from a handgun? Why?
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6. You have a rriass of 65kg and are running at 2.5 m/s. You jump onto a stationdry sled that has a mass of

3.0kg. What is the velocity of you and the sled after you jump on it? (Assume you and the sled are on a
flat, snowy, frictionless sidewalk.) -
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Energy. Work & Power

W=Fxd P=Wit PE; = magh KE =% mv? Fg=mag 746 Watts = 1 HP

7. If'you can carry one load of laundry up one flight of 3 stairs, then how much work do you do if you
carry that same load up 9 flights of stairs?

‘hine times as much
b) shree times as much
¢} The same amount

d} One-third as much
e} One-sixth as much

8. How many joules of work are done on an object when a force of 10 N pushes it 5§ m?

a) 5007 b) 100 J d)2] €057

9. In which of the following situations is no work done on a 500-gram beach ball?

Picking it up
arrying it down the beach while not moving it up or down
¢) Pushing it upwards onto a shelf
d) All of these are examples where no work is done
e} All of these are examples where work is done

10. How much work is done when you lift a 6.0 N weight 1.5-m above the ground?

a) 0] b} 4.0 c)7.5] @ ¢) none of these

11. What is your power when you do 100 J of work on an object in 2.0 seconds?
3 200W b) 100 W @ 2w GOW
12. Potential energy is the energy of an object due to its

a) Velocity
cation
¢} Volume

d) Temperature
e) Density

13. The amount of potential energy possessed by an elevated object is equal to

a) The force needed to lift it
b) The distance it is lifted
}J\ The power used to kit it
|/ The work done in lifting it
The value of the acceleration due to gravity

14. What is the kinetic energy of a 5.0 kg boulder pushed off a cliff 25.0 m high (on earth), right before it
hits the ground? (Hint: Think about how potential energy relates to kinetic energy.)

a) 5] 257 c) 12257 d)497
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15. As a pendulum swings back and forth, which of the following is true

a) Potential energy is transformed into kinetic energy
b) Kinetic energy is transformed into potential energy
¢) At the lowest part of its swing, its energy is all kinetic

d)__ At the end points of its swing, its energy is all potential
‘All of the above are true

16. An arrow in a bow has 70 J of potential energy. Assuming no loss of energy due to heat, how much
kinetic energy will the arrow have after it has been shot?

ay 07 b} 357 ¢) 507 @ e) 140 J

17. A 10kg object moves at 3 m/s. Its kinetic energy is JE~
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18. If it requires 3000J of workto lift M. D. up stairs that are 6m high, what is Mr. D’s mass in kg?
60 k 5( 0.2 kgd) 50 110k
a) g - ¢) 0.2 kgd) 50 kg ¢) 4 L= = &

19. Which of these is described as “the rate at which work is done™? Lores\ ™ ~ ((s/::ﬁfb
a) Potential Energy ) )

b} Kinetic Energy }C T

¢) Power

d) Momentum
e) Work
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20. A 5kg ball is thrown so that it has a kinetic energy of 2501, 1s-the ball’s speed?
a) 7.07 m/sb) 5 m/s ¢} 100 m/s d) 22 m/s iomis J

bicct has a potential energy of 600]. If it is 30cm above the ground what is its mass?
e b) 100 kg ¢)2kg Z d) 10 kg 7 265
OaoM

22. How much work is done when you lift a 15.0 kg weight 3.5 m above the ground?

[J = F()*—/J(Ks/I%/"}/B[g’:q)w

23. What is your power when you do 300 J of work on an object in 3.0 seconds?
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24. What is the kinetic energy of a 12 kg boulder pushed off a cliff 25.0 m high (on earth) rlght before 1t
hits the ground? (Hint: Think about how potentlal enef elgtzs to kinetic -
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25.1f a 2.5 kg ball is thrown so that it has a kinetic ener 0%80 J, then what is the ball’s speed?
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26. What is the highest a skateboarder can go if a 55 kg skateboarder is moving at 4.0 m/s before she starts
up a ramp? FE it M(Okvl-\ V‘Ei%m\;l '1
| = 55K (ﬁ@@\> - Vz(ﬁksh(qh/b
Mo = 55 RIRL '
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27. Stacey Leigh raises 45 kg a distance of 220 centimeters in 2.5 seconds. How much Aorsepower does she
display in this lift? (Recall, 1 HP=746 W and 100 cm = 1

W= Fed = %J@ﬁ.@b@@ -
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28. The fourth floor of a house ig%ﬂove street level,

a. How much work is needed to move (lift) a 120 kg trunk to the fourth floor that@rs above
street level? - £\ = _ 2, > .
W=F 2 = 1ok befep(Bm) - G Yor T

LT
v,

b. How much power is necessary to move that same trunk to the fourth floor in 6.0 minutes? (Recall
that one minute is equal to 60 seconds)
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